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#imE D 2-31.5 2-31.5
WE R AP,=21MPa 5. 10, 15, 20. 30 5.104 15; 20. 30
Qn(L/min) | Ap =7MPa 3. 6.9, 12, 18 3. 6.9, 12, 18

BERESE (%) £10 +10
HERBRIn (mA) 10 15 40 10 15 40
EEEE () 700 200 80 700 200 80
ek (%) =4 <2
THE (%) <1 =0.5
LR (%) <7.5 =3
FRIRE (%) =10 =10
BH (%) st2 =+2
E& (%) =%25 =+25
AR(L/min) =0.6-1.7 =0.9~2.2
FEhig# (%Ps/1%In) >30 >50
BESE (AT=40T) (%) <+2 < +2
#EHENTE( 80% ~ 100% )P, (%) =% =x2
EHELEE (0~-20% )P, (%) =+2 =+2
EERHLa=10g (%) <2 =2

iEmes(-3dB) (Hz) =80 =150
ST

HamE(-90° ) (Hz) =80 =150
mEEE (T) -25~105 -25~105
S (Kg) =0.45 =0.45
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